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X, = f+2f2+2f3+f4 (1, —t0)=x0+ﬁ+2f2;2f3+ﬁ*x8TEP
= (xoato
xSTEP STEP

:f(x”f 2 j

( f2><STEP STEP)
:f A
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fi = f(xt
:f(x0+ﬁxSTEP STzEPJSTE’;Of i)
STEP , STEP )stero
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#define STEP 0.05
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%:f(x,t):sinxt
DEFIZIE
double f(double x, double t)
{
// f(x,t)=sinxt
return sin(x*t);
]
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Il x, =x,+ f(x,,t,)xSTEP

double calclate_nextstep(double x, double t)

{

double next_x;
next_x = x + f(x, t)*STEP;

return next_x.

}

int main(void)
{
int i;
double x[100], t; // 100 [ElD# v KL

x[0]=1.0; t=0.0; // #IflE (x[0]=1.0 7Z>7=V L¥T)
for (i=0; i<99; i++){ // 0-99 ™ 100 [A]DH v K L
printf ("%f, %f¥n”, t, x[il); //Z2Z22%& x5 L F£R

J/HEZINET
x[i+1]= calclate_nextstep (x[i], t):
t=t+STEP;
]
return 0;

Ty,
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WG Ty BT S (3,1, B EDICAT HOT, £ (x,1,) OTD D (2 g(x,1) & LT

X, =X+ & (X.80 )% (8, —1,)

_SH2L+26+
6

=x0+fl+2f2;2f3+f4 xSTEP

g(xo’to)

95, LT,
double f(double x, double t)
{

// f(x,t)=sinxt

return sin(x*t);

double g(double x, double t)

{
double f1, f2, 3, f4;

/] =1 (%001)

f1=~1kx t);
//ﬁ:f[xo+ﬁxSZTEP’to+ST2]EPj

f2 = f (x+f1+STEP/2. 0, t+STEP/2.0);
//f3:f(xo_i_fzxiTEP’tO_i_STzEPjX
f3 = f (x+f2+«STEP/2. 0, t+STEP/2.0);

// fi=f(x,+ f,xSTEP,, + STEP)
f4 = f (x+f3+«STEP, t+STEP);

/) glay) =Dt 2L 22

return (f14+2xf2+2+«f3+f4)/6.0;
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// x, =x,+g(x,,t,)xSTEP

double calclate_nextstep(double x, double t)

{

J

double next_x;
next_x = x + g(x, t)*STEP;

return next_x.

int main(void)

{

int i;
double x[100], t; // 100 [FlD#E v L

x[0]=1.0;
t=0.0;
for (i=0; i<99; i++) { // 0-99 ® 100 [E|D# VK L
printf ("%f, %f¥n”, t, x[il): // TZ2%2EX5LHER

J/DEDY £
x[i+1]= calclate_nextstep (x[il, t) ;
t=t+STEP;
]
return 0;

(RIEH@REXRFEFAHHEFH]



